UR L8 4 Puzzled Pint!

Il;llllled Where R U? T

Part 1: U The intersections are gridlocked! U H8 2 W8,
so solve the grid below to unlock what U do next...
Guessed words:

1 2
1.
3 1.
H B B ,
4 2
H N B 2
YOU 3.
3.
The Rules

Within a guessed word, each letter is shaded to 3.

show how it corresponds to a letter located...

i1 In the guessed word in the correct position.
In the guessed word in a different position. N U

In a different word in the same position. For example, the last clue (BONUS) shows:
- There is no B anywhere in the puzzle.
In a different word in a different position. - There is at least one O, but not in word #4
and not in the 2nd position of any word.
. Not in any word in the puzzle. - There is at /egsf one N in word #4, but not
in the 3rd position.

s P - There is at least one U in the 4th position
The Rules are applied in top-down priority order. ; .
PP P P Y of a different word in the puzzle.

For example, 'f, d IeTTer Is found ,b,OTh in the - There is at least one S, but not in word #4
guessed word in a different position AND also and not in the 5th position of any word.

in a different word, it will be coloured white.

Part 2: Double-U U went the wrong way, so now U have to double back!
The doubled letters in the solution grid will reveal what too many of those U’s can leave U in.
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